| Efficiency vs Dxy |
> 0.8
Pas

o
\‘

efficiency vs d

0.5

0.4

0.3

0.2

0.3

OL.LGIIII,IIII,IIII,IIII III.IIII.IIII.IIII
= -
) L
o L
] PP R

510 15 20
TP dxy (cm)

0955~ 157210 =5 0

—=— DQM _old

| Efficiency vs Dz |

—*— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z_ RECO

1.2

.....................................................................

0.8

efficiency vs dz

....................................................................

0.6

0.4

....................................................................

................................................................

30
TP dz (cm)



	Contents
	Page 1


